Simplex 5000
Exit Trim

See inside front cover for
How to Order instructions

Item Qty/Lock Description Finish Part Number List Prices (USD)
1 1 Outside Lever, KIL | satin Chrome | 34229-26D-01 $75.00
' (Includes 1 ea. #1, #6, #7, #8) | Bright Brass 34229-03-01 $75.00
N Satin Brass 34229-04-01 $75.00
B Duranodic 34229-55-01 $75.00
Bright Chrome | 34229-026-01 $75.00
2 1 Outside Lever, Schlage Satin Chrome | 34230-26D-01 $100.00
(Includes 1 ea. #2, #7, #9) Bright Brass 34230-03-01 $100.00
Satin Brass 34230-04-01 $100.00
v Duranodic 34230-55-01 5100.00
i Bright Chrome | 34230-026-01 $100.00
Outside Lever, Corbin-Russwin Satin Chrome | 34231-26D-01 $100.00
(Includes 1 ea. #2, #7, #9) Bright Brass 34231-03-01 $100.00
Satin Brass 34231-04-01 100.00
Duranodic 34231-55-01 $100.00
Brioht Chrome | 34231-026-01 $100.00
Outside Lever, Sargent Satin Chrome | 34232-26D-01 $100.00
(Includes 1 ea. #2, #7, #9) Bright Brass 34232-03-01 $100.00
Satin Brass 34232-04-01 5100.00
Duranodic 34232-55-01 3100.00
Bright Chrome | 34232-026-01 $100.00
Qutside Lever, Best Satin Chrome | 34233-26D-01 $100.00
! {(Includes 1 ea. #2, #7, #9) Bright Brass 34233-03-01 $100.00
Satin Brass 34233-04-01 $100.00
Duranodic 34233-55-01 5100.00
! Bright Chrome | 34233-026-01 $100.00
Outside Lever, Assa/Medeco/Yale Satin Chrome | 34234-26D-01 5100.00
(Includes 1 ea. #2, #7, #9) Bright Brass 34234-03-01 $100.00
! Satin Brass 34234-04-01 5100.00
Duranodic 34234-55-01 5100.00
Bright Chrome | 34234-026-01 $100.00

KA KARA




r"'\

)

™

Simplex 5000 Exit Trim (continued)

item Qty/Lock Description Finish Part Number List Prices (USD)
[ 3 1 | Kaba KIL Cylinder (w/keys), Keyed Differently Satin Chrome | 54562-26D-01 $30.00
| Satin Brass 54562-04-01 $30.00
Schlage KIL Cylinder (w/keys), Keyed Differently Satin Chrome | 54568-26D-01 $30.00
Satin Brass 54568-04-01 $30.00
Kaba 90 Key Blank, 50/Box - Available from llco Division - Rocky Mount KABA 90
4 1 Tailpiece Kit, KIL {Includes 5 various tailpieces) ET/Mortise 64745-000-01 $14.00
3 1 Tailpiece Kit, Best (6 and 7-pin) ET/Mortise | 64743-000-01 $12.00
Tailpiece Kit, Corbin-Russwin/Sargent ET/Mortise | 24520-000-01 $12.00
Tailpiece Kit, Assa/Medeco/Yale ET/Mortise 74836-000-01 $12.00
Tailpiece Kit, Schlage ET/Mortise 24527-000-01 $12.00
6 1 Lever Sleeve Accessory Kit, KIL (Includes 1 ea. #8, #7, #8) 64706-000-01 14.00
L7 1 | OQutside Lever Insert (10 Pack] 54527-000-10 $10.00
| 8 1 |_Lever Sleeve Accessory Kit, KIL (Includes 1 ea. #8, #7, #8) 64706-000-01 $14.00 |
9 1 Lever Sleeve Accessory Kit, IC (Includes 1 ea. #7, #9) 64707-000-01 514.00 |
10 1 External Retaining Ring (10 Pack) 54517-000-10 $10.00
11 1 Accessory Too! Kit (Includes 1 ea. #11) 64717-000-01 $10.00
12 1 Outside Housing, Exterior Code Change — with Driver Satin Chrome | 74970-26D-01 $180.00
(Includes code buttons, enter button and 1 ea. #10, #12, #13) Bright Brass 74970-03-01 $180.00
Satin Brass 74970-04-01 $180.00
Duranodic 74970-55-01 $180.00
Black 74970-083-01 $180.00
Bright Chrome | 74970-026-01 $180.00
13 1 | Outside Driver Assembly (Includes 1 ea. #10, #13) 75201-000-01 $30.00
14 1 | Key Override Detector Kit (Includes spring and washer) 34260-000-01 $12.00
15 1 Extension Sleeve Assembly - ET 75116-000-01 528.00
16 2 Combination Chamber Screw 6-32 x %¢" (10 ea. x 3 different screws) 64776-000-01 $10.00
17 1 Combination Chamber 74832-000-01 $80.00
18 1 Outside Base Assembly without Chamber 75207-000-01 $70.00
19 2 Base Screw (10 Pack) 54461-000-10 510.00
20 1 Exit Trim Drive Unit 74968-000-01 45.00
21 2 Connecting Screw 8-32 X 136" (Incl. 2 ea. #21, and 4" spacers) 64712-000-01 $10.00
Connecting Screw 8-32 X 13" (Incl. 2 ea. #21, and 4" spacers) 64712-000-01 $10.00
22 3 Sex Nut (3 Pack) Black 54642-083-01 $14.00
23 1 Universal Mounting Plate - ET Black 34252-083-01 $22.00
24 3 Mounting Bushing (10 Pack) Black 44229-068-10 $10.00
25 3 Mounting Screw Satin Chrome | 64725-26D-01 $28.00
(Includes #21, #22, # 24, #25, #26) Bright Brass 64725-03-01 $28.00
| 286 4 Screw 10-24 X .75 (10 Pack) | 54597-000-10 $10.00
Additional Parts Kits
ltem Description Finish Part Number List Prices (USD)
Kits | Installation Hardware Kit (Incl. #21, #22, # 24, #25, #26) Satin Chrome | 64725-26D-01 $28.00
Bright Brass | 64725-03-01 $28.00
Lubriplate Aero Grease Tubes | 64754-000-01 $12.00
Lever Return Spring (Fits inside and outside driver) (10 Pack) 54482-000-10 $14.00
‘ Actuator Button Spring (10 Pack) 54514-000-10 $14.00
Product Documentation Kit PKG3052 $15.00
Note:

* For kit items that show additional reference #s in parentheses, the quantity required for 1 lock is included in kit.

« Lubriplate Aero grease is the “only” lubricant that should be used.

RAKARA



